10 80 201100 601

goougobog-oggo

2011060 170



ooooooo

1.1
1.2
1.3
14
1.5

1.6

1.5.1 OO0O0O00 ... e e
1.5.2 OO0000 ... e e
1,53 OO00000O0 ... e s

god

gbooabooaan

2.1
2.2
2.3
2.4
2.5
2.6
2.7
2.8
2.9
2.10
2.11
2.12
2.13

oood
ooood
ooood
oood
oood

O
OO o o
00 (2710 2640000 .. ..ot
OO00O0 .ot e e e e e e e
1

gbO-0obobooboobod

3.1
3.2
3.3
3.4
3.5
3.6

good

S Ot =W W N

o oo oo @

12
14
15
16
16
16
17
18
18
19

22
22
22
24
25
26
26

27



guogguod

ooooot

1.1 0OOdd

Ooo0oooooOoo0oOooOooUOoooo0oo0oo0o00o0oo0oo0ooOoooooo0ooooDoo
boooboooboooobooboobooooobooobooobooboobOoboo0ooooboooboOobn
obooobOobooboobooooog

oboooobooobooooboboobooboobooboooboobOobooobOoooOobooobooooDooo
O0oo [1),2,8000000000000000O0000000DO0O0000000DDOODO0OoOo
boboobooboobooboobooboobooobooooboooboobobooobOoboooboooobOO
oboboobOobooooobooooboooooboobooooboooobOobooooboOooboon

obobooobooobooooboobooboooooobooboooboobooobobooobooboooOoooo
gooooooobooooooooboooooboobooooboobOoooOOobOoobooooooOoDbO
gboooboooboooobooboobooobooboobooooboobobooooooboooboOoDbo
obooobOooooooboooog

1.2 OO0

gbooobooooboooobooooon

bo + “ (1.2.1)

a
b + 2

a
ba + i

a
bs + !

by +

O0 21000006 0000by,bo,b3---000000ay,a9,a3---00000000000000000O
gboooooooooboobooooboooobooobooooboooboooboooobooobooooOoDbn
obooobooobOoboooboooboobooboobooobooooOoobooobooOoOoboobobobOoooooDbn
gooooobooooooboooon

00000000000000 (1.21)00000000000000O0O0OOOOO0

ap a2 a3 a4

bo, b1, b2, bs, bs, (1.2.2)
0000000 w00000D0000000000000000
1
wp, = [wn] + (0 <n) (1.2.3)

Wn+1

Iftakagi@jn3.so-net.ne.jp



000 [|]00000000000 []0200000000000000000 0000 wy, =[w,)00
0000000000000 00O0000(1.23)000n+100000000w000000O0O0OOO0O

goooobogoooo
1 1 1 1 1

Owe = (1.2.4)
[Ldo], [w1]7 [WQ]’ [W3L Ty [wTLL Wn+1
DDDDDDDDDDDDD(1.2.3)DDDDDDDDDDDDDDDDD
1.3 U000
DDDDDDDDDDqDDDD\/aDDDD
_ = a— v
Va=[Vd+va [ﬁ]—[ﬁHme (1.3.1)
DDDDDDDDDDDDDDDDDDDDDDDDD(1.3.1)DDDD
_ q - [\/a?
vi=WVat g i va
0=+ q—1/q? :
2[\/qu—[\/@]
Va+[vdl
- [val®
~ [va + - -
2+ q-[vd i
Va+[Vd
gooOogooooooo
7 q—[va* a—1yvad* - a—-1yd* q¢-[yd*0
VI=0la, eva, 2va e, 2val va+Ival (1.3.2)

obooooooooobobooo qf[\/(j]z:1|]DDDDDDDDDDDDDDDDDDDDDDDDDD
gboobaboobbodgboboboobuooboabuoobooboobooboboobobooboboobgan
googo

1.4 0O00O0OOO

00 woOOOOOOOCOOOOOCODOO0O0O0OO0O sO000000O000DO0O0O0oDO(L23) 0000
000000 swoeOOOOOOOOOOoOOoo
1

n = |swp] + —— (0< 1.4.1
swn = [swa] + = (02 ) (1.41)

(14100 woO0OD0OOD0O0DDO0O0ODOOO0ODO0OOOO

1 s 1 1 1 1

[swol/s, s[swi], [swa], [sws], [swal, -+, [swn], Swni1 (1.4.2)

wo =
00000 sO00000000 [sw]/s0000000000sO000D00O00O0OOOOOOOODOODOOD
oboooooooboboooooobooboboobooooooobobosobooboobobooboboonog
000000000000 s=1000 (14.2)0 (1.24) 000000



1.5 0000
DDmDDDDDDDDDwoD(1.2.2)DDDmDDDDDDDDDDDDD
aq ag as an
= <
= buy by by oo, by| (O=n<m) (1.5.1)

O00n.000000000000nR—-occ000000{k,}0000000000000O000O0O0DCODOOO
0000 4000000000000000000000000O00D000O000O0DO0OO0O0O0O0OO
U0 woOOOOO0O0O0ooO0oo00O0nobooooooaon w(()n)DDDDDDDDDDDDD woOoOono
000000000 V200 V130000000000 000000000000 s=2000000000
gbooobooboobuoobobobobboo

1.5.1 00O0O0O0d

1 1 1 1 1
V2 = L9 2 2 e 2 Jagq| (7141421356 (1.5.2)
(152) 00
3 7 17
Va9 =1 e = S =15 5 T4 /5 _ 1T 14166666, (153)
11 )
va = S mvarosn. . va® = D miaessr. . V20 = B S naaaonn . (L5
29 70 169
00000000000000000
11 1 1 - 11 1
\/g_ |:17 1, 2, 1, 2, -, 1, 2 (\/§+1)/2] (1.5.5)
0oo
1 11 1 1 1 1
V3= [1, 1, 2,1, 2, -~ 2, 1, 3+ 1} (1.5.6)
(155000 (1.5.6) 0 0
5 7
V39 =1, vaWoe, 3P - > = 16666666 ... V3 = T=175 (1.5.7)
19 26 71
Vel = =rmnnr, VBT = S oumsesss., VY = o 1mons.. (158)
0000000 v3=1.7320508... 0000000000000000000000000000000
11 1 11
V5 = {2, 4, 4, 4, ---, 4, \/g+2] (1.5.9)

gboooboboooboboobobooboboobooboobooboobobooboboobobon
gboooboooobobooooboooobon

ﬁ:{Q 1 1 1 1 1 1 1 1 :::] (1.5.10)
(1.5.11)

11 1 1 1 -
V1 {37 L L L1 s } (1.5.12)

Vv3,V/7,/11,/13000000000000000000000000000000



ot

1.5.2 0OJ0O0O0O0O0O0

(1.3.2)0000000000000000 +2,/60000000000000000000000000
ooooooogo q—[\/ﬁ]QleDDDDDDDDDDDDﬁD Vv11O0O00O0O00Oo0oOoooooooaod
gooobooooboboboooooooon

\/3—[1’ 2, 2, -+, 2 \/§+1} (1.5.13)
ﬁ:[& 6, 6, ---, 6, m+3] (1.5.14)

gbodgbobooboobodobooboboobobodobobboobooboboooboboobgan
0000+v704/13000000000000000000000000000

ﬁ[z 4, 4, -, 4, ﬁ+2} (1.5.15)
4 4 4 4 - 2 1 1 1 -
\/ﬁ{:z,, 6, 6, 6 6 ]{3 3.3 3 3 } (1.5.16)

1.5.3 000Oo0Oooon

(141)0 (142) 000000000000 0O0OO0OOs=200000000000000

1 2 1 1 1 11 L
\/57 |:]-7 27 47 ]., 4, ]_7 s 4’ ]_7 2(\/§+ 1):| (1517)

000000000 (1.52)0000000000000000000000000000O0O0O0OOO0O0O0
gbobooboobooooboboooooboooooaon

1 2 1 1 1 1 ---
Jé—[s/z 4, 6, 2, 6, 2, 6 ] (1.5.18)

000000000 (1.55),(1.5.6)000000000000O0O0OOOOO0O

3 7 45 97
V3 = S=15 V3 = L=175, v3? = = 17307692 ..., V3™ = = LT3R5, (15.19)
(4) 627 (5) 1351 (6) 8733
= - =1.7320441. .. = 0 = 1.7320512... =20 = 1.732 ... (152
V3 262 7320 . V3 %0 73205 . V3 0D 7320507 (1.5.20)

00 +/3=1.7320508... 0000000000 OOO
Vv5000000000000000

\/5:[2 i 2 111 ] (1.5.21)

000000000 (159 0000000000000000U0OD0OO0O0OO0O0OO0OO0ODOUODOO0ODOO
000000000000 V7,V11,V/130000

12 1 1 1 1 1 1 -

ﬁ{5/27 6, 2, 3, 10, 3, 2, 3 10 ] (1.5.22)
1 2 1 1 1 1 1 1 .-

W:{& 2, 1, 1, 2, 1, 1, 1, 12 } (1.5.23)
12 1 1 1 1 1 1 .-

W[?/x 8 1,2 1, 4, 14, 4, 1, } (1.5.24)

00000000000000D0DODOO0DO0O0O0O0VY,v/11000 V/130000000000000000
goooooboooooboooooon



1.6 UOOO

000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000
0oooooo

00000000000000000000000000000000000 (14++5)/20000000
000000000000000000000000000000000000000000000000

0000000000 (1.23)000 w 0000000000000 w; =w, 0000

1
wo = [wo] + — (1.6.1)
wo
000000000000000
[wn] = [wo] (0 <7n <o0) (1.6.2)

O00000(1.24)00000000000000000000 [w)00000000000000000O0
00000000000000000000000
(1.6.1)00 woOOOOOO

wg — [wolwo —1=0 (1.6.3)
O00000,0000 wy = ([wo] £+/[wo]2+4)/200000000 Jwe] <wp < [wo] +10000000

go

o= LIEVEED ) ) (1.6.4)

ooooood
(1.64) 000000000000 [we]=10000000

C1+V5
2

wo

0000000 [wy] =2,3,4,5,...0000

3++v13 5429
wo =1+, %,zwg, %

oood
000000000000000000000000000000000000000 [w] =40000
wy=2++s0000000000000000000000 V5000 (1L59)0oOoOoooo
000000 woOOOOOoOooOoooon

wo = [wo] + —, w1 = [wi] + —
w1 wo

gboboobobooobooboooobooooobooboooa

(2011.4.28)



oo

1] DOO0DO00O0O0O00OO0o0oooOo (2010.10)
2 000000000000 000000O0O0O00D0O (1985.12)
[3] http://en.wikipedia.org/wiki/Continued._ fraction 0 O O

[4] http://en.wikipedia.org/wiki/Convergent_ (continued- fraction)



Juogdood

oooo2

21 0000

000000000000D030000000000,00000000,000000000000000
gboboobooooboboooboboooboobooo.obooooboooboooboobooobo.oooon
gbooooOooboooooboooooboobooooboobooooobooooboobooobo.oboooboooon
0oooooooooooo4

oo0,000booooboooooooobooooobo. oobooo0oboooobbooboboboooboo
gob.boooboooooooboooooo,bo,b0o0obo0ooooboooboooobo,0bbooooboogog
00000000000.0000000000000000000D00000O0O0O0O00OO0O0?.

22 00

00000000000 x:00000,0000y000000,00101000y=f(x)0000 20O
0000,y000 f(x)000000000000DODDOS 00200000 y=f(x)000000000
00007 0000000 2000000000000000,00y=f(x)0000000000000
0.000000z000y=f(x)0000000O000,00000000000000 0000000
obooobOoooobooboooooboooon.

23 00O

00000000000000000000000000000. 00 f(z)0000,z=2,000000
flz1),z=2,000000 f(z) 0000,000000

f(x2) — f(21)

T2 —T1

(2.3.1)

gooooao.

2yanotad@earth.ocn.ne.jp

3000000000000 000000000000000000000000000000000000000000000,00
oooo0oOoooUooOoooUoooooooOooo.

4000000000000, 0000000000000000000000000000. 00000 y=2"000000000

S000000000D0000000000000000N000D0N00000DD0N0N0NDN00NDDN0N0N000N0DNo0o0oonong
(self-contained) 0000000000000 (2007) 0000000000000O00D0O000O0O0ONDOOOD0OOOOOOOIO108O
(2011. 6) DO00OO0O0O. 0DD0OODOODODOOODO

S000000000000000000. 0000000000000000000000000000000000000000
0.00000000000000 Jooooo.

"000000000D0000000DO000.



0000000000000 00000 xy00000000000O00. 00000
lim f(x2) — f(x1)

T2—T1 To — X1

= f'(21) (2.3.2)

000,00 f(z;)0 2=2,00 f(z) 0000000. 010000 y=2:+100000003000
y=2*—z+1000 (z,y)=(1,1) 000000000 y=2:—1000000000000000000
0.0000000000000000 f(x)00000000000.

oo
gl1gbooooooobo

0000,r=2020000000000,002z=20000000000000000000000
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gboocooobobOobooOoboOobO1bobooob. ooboboooooboobooooboaoon

de . (x+R)"—2"
= lim S e (2.3.10)

gooooa?s.

210 ObOooboOooobd

boocoooboobooooooboboboooooobooboboooooob,cb0b0oooboboo
obooooobooobo.oooo,0o0o0bobooobooboooobooboobo.oboooa

dz" 1
= ng"~ 2.3.10
el (2.3.10)
gboodn0000,n00000000,000000
d (z" 1
=) =" 2.10.1

ooooooltr,
0000000000000 O0000O00OO00OO0OO0O.0ooo
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